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4.6 Equation of a Line Given the Slope and a Point

What information do you need to find the equation of a line?

y=mx+b
Really...just slope
and y-int....
SLOPE Y-INT
RECALL....

Ex.1 Find the equation of the line given the following information:
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Now Algebraically
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Ex.2 Find the equation of the line if:
a) its slope is 2 and its y-intercept is 6.

m=2 b=1(

b) its slope is —: and it crosses the y-axis at 4.

N = - 3 b= 4
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c) its a horizontal line having y-intercept of -5.
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d) the slope is undefined and it passes through the point (2 ,4).
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Ex. 3 Find the equation of a line:
a) having a slope of 1 and passing through the point (1,4).
M=1]  WWNch b do we mued? Soluc Ko &
i\;\’w b Sob g ) 4+ y=- (1,%\
H= D)
U = b . _
L—y :fb+ é”@(‘(‘g
b) having a slope of 2 and passing through the point (6, -1).
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c) parallel toy = 3x - 5 and passing through the point ( 2,4). g‘
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1
d) perpendicular to the line y =—x+2 with the same y-intercept
3 Perpendicular lines have
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3 x| negative reciprocal slopes.
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e) perpendicular toy - 2x =1 and passes through the origin.
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